Name:

Quadrilactral Review

1)  Inparallelogram ABCD, m/B = (4x + 15)° and
msD = (6x - 27)°. Find m£C.

2)  Inthe accompanying diagram of parallelogram
ABCD, side AD is extended through D to E and
DB is a diagonal.

7
BYALN C

859
A B

Ifm/EDC = 65° and m/CBD =85°,
find mzCDB.

3)

4

5)
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Geometry

Inrectangle ABCD with diagonals AC and ﬁ,
AC =3x - 15 and BD =7x - 55. Find x.

The diagonals of a rhombus have lengths of

12 centimeters and 16 centimeters. Find the number
of centimeters in the length of one side of the
rhombus.

The diagonals of a quadrilateral are congruent but
do not bisect each other. This quadrilateral is

A) aparallelogram

B) anisosceles trapezoid

C) arhombus

D) arectangle




6) Inthe diagram below ofisosceles trapezoid DEFG,
DE | GF,DE=4x - 2, EF=3x +2,
FG=5x - 3,and GD = 2x + 5. Find the value
ofx. [Show all work.]

D dx -2 E

2x+5 3x+2

bx -3

7)  Inthe accompanying diagram of rhombus ABCD,
diagonal BD is drawn and m£C = 50°.

D C
50°

A B

Find mZ ADB.

8) A parallelogram must be a thombus if the

A) opposite sides are congruent
B) opposite angles are congruent
C) diagonals are congruent

D) diagonals are perpendicular
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9)  Which statement is not always true about a

parallelogram?

A) Oppostte sides are parallel.

B) Opposite angles are congruent.

C) Oppostte sides are congruent.

D) Diagonals are congruent.
10) Inthe diagram below, PQRS is a trapezoid with
SR I PQ. TU is the median.

S R

VAN
/ AN

P Q

IfSR = 5 and TU = 9, what is the length of PQ?
A) 4 C) 23
B) 13 D) 7

11) Inthe diagram below of parallelogram STUV,

SV=x+3,VU=2x- 1,and TU=4x - 3.

v

T

What is the length of SV?
A 7 C) 5
B) 4




12)  Inthe accompanying diagram of parallelogram

ABCD, DE is perpendicular to diagonal AC.

D c

A B

Ifm/BAC =40° and m£ADE = 70°, find mZB.

13) TInisosceles trapezoid ABCD, AB = CD. If
BC =20, AD =36, and AB= 17, what is the length
of the altitude of the trapezoid?
A) 12 C) 10
B) 16 D) 15
14) Inrhombus ABCD, AB =2x -+ 15 and
BC =4x - 5. Find x.
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15) The diagram below shows isosceles
trapezoid ABCD with AB || DC and AD = BC. If
mZBAD =2x° and m£BCD = (3x + 5)°,
find mZBAD. [Show all work.]

A B
(2x)°

(3x + 5)9

16) Inparallelogram ABCD, mZA = (3x + 40)° and

m/B = (x + 60)°. Find the value of x.




17)

18)

Erghe fd_iigfﬂn below, PQRS is a trapezoid with
SR I PQ. TU is the median.

S R

N
/ AN

P Q

I[fSR=3x-3,PQ=4x +2,and TU =10,
find SR.

Ifthe diagonal of a square has a length of 82, find
the perimeter.
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19) Inthe accompanying diagram, ABCD is a rectangle,
E is a point on CD, m£DAE = 30°, and

mZCBE=20°.

A B

30° t/\
20°
X°

D E C
What is m/x?
A) 60° C) 50°
B) 25° D) 70°

In parallelogram PQRS, diagonals PR and ag
intersect at T. IfFQT = 2x - 4 and QS =x? - 4,
find x.

20)
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1) 81°
2 30°
3) 10
4 10
5 B

A 3

7  65°

8) D 9 D 10) B 1) C -
12)  120°

13) D

W 10

15) mzBAD=70°

el
D,

16) 20
17) 5
18) 32
19) C

200 6




